. QUESTION BOOKLET N
This question paper contains 170 questions. / §8 979 1 170727 ¢ |
All questions are compulsory. / Tft wyt sifyar 2 |

One question carries half mark only. / T NT fee, Sere MU 37 ¢ | ,
Maximum Marks : §5 SAfeHan 3% : 85

Time : 2 Hours qOT ;. 2 9U¢

1. The rate at which RBI purchases or rediscounts bills of exchange of

commercial banks is c:

Repo rmgu 515 called (B) Reverse repo rate
(C)Y Bank rate (D) Base rate . .
98 @ 10 m RB1 e =i 6 e fae 6 Tlie A JTEEHd S
B, e & -

(4) W (B) FredidiER I (C)y &% T (D) S

2. “Interest rate risk” can be placed in which among the following categories ?

=1
(A) Creditrisk (B) Marketrisk (C) Operating risk(D) All of these
Frer 3 2 o R & oE sRen™ 7 T ST Gal # 7

(A) #fiefes  (B) 7

3.  Inwhich year Bombay Sfock‘Exchat established ?
Mt L
(A) 1865 B) 1575 (D) 1890
4.  In which year “Zero Bised Budgeting hdia?  RIE
R F [ ST Sien’ T ST ey : L
(A) 1960 (By 11991 (C) 2000 (D) 1983

5. Which one of the following is anti-iriflationary. measure ?

A) Stagflation (B) inflafi isinflation (D) Deflation
&) St O aor L R
(A) PegeRft B) el (C) swehfs (D) sawhf

6. Which among the followini; is a direct tax ?
e

(A) Excise duty (B) bSaletax (C) VAT (D) Income tax
AR AT TE?
A) ey B) TR () VAT (D) 3T

7.  Flexible Exchange Rate is
%F%%iﬂﬂ%}m Ordered (C) Can’tsay (D) Determined

A) Traa. (B) $FEZ (Order
Ecg e o T o) (Ordered)
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10.

11.

12.

13.

14.

The policies useful to reduce inequalities of income are the

(A) Monetary policies (B) Public distribution policjes
(C) Budgetary policies (D) Foreign policies

31 - 1 57 H0 & For Iyt fiferrf € -

(A) Tifses fifeat (B) i T Hifaat |

(C) sty ffeai (D) ferw fferat

Legal reserve ratio is equal to
A e T TR R
(A) CRR +SLR (B) CRR-SLR (C) SLR—CRR (D} CRR+SLR

A Trader sold a television for ¥ 1,500 price. Rate of profit is 20%. Purchase
price will be

TF ¢t 3 0% defem T 1,500 ) Hid W =1 | A X 20% 2 41 35 @lig
ﬁ'ﬁlﬁ@"ﬁ:
(A) 1,000  (B) 1,200 (C) 1,250 (D) 1,300

What is the least common ﬁlultiple (LCM) of the numbers 90, 60, 75 and
357

AT 90, 60, 75 T 35 T AERTHIH (LCM) FAT & 2

(A) 2,700 (B) 6,300 (C) 4,250 (D) 2,750

Three — fourth of the number of girls in a school is equal to half of the
number of boys If the school has 1,420 pupils, how many of them are boys ?

ferelt sty 4 wrgfenat i < =S we el A T i amef | i wen
e 1,420 fereneff g1 0 377 @ wighl h wew feari § 2

(A) 852 (B) 720 (C) 568 (D) 284

Which of the following is not a parallelogram ?

1(%2 ;gl;f@ ml(ﬁli_i{)_ Rect%gl_g \ (C) Rhombus (D) Trapezium
(A) TR (B) 3 C) v=gds (D) "o

_ 1
Solve the linear equation, 5 (10x—20) =x 3

1 .
i‘@umﬂaﬂwg (10x —20) = x — 3 1 &= SHifdu |

D=t ® = (o =3
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15.

16.

17.

18.

19.

20.

21.

Solve the following radical equation

\Bx+13=x+1

(A) =3 (B) 4 (C) 3,4 (D) No solution
T (radical) s ) g iR

‘\’3.1"** 13=x+1

(A) -3 (B) 4 (C) -3,4 (D) 1% &l e

-Which of the following is NOT a function ?

(A) Xy?=2=0 (B) xy-2=0 (C) 2¥*-y=0 (D) All of these
9 1 % 5 o wem () 29 |
(A) %2-2=0 (B) »y-2=0 (C) 2¢-y=0 (D) A

All values that could be put into the function for which the function is

defined and have real values is called of the function.
(A) Domain  (B)}) idity test (D) Reliability
3 oft T S Redi e E ! rETRE o mn
g e foraes arafis
(A) A gor . (D) Tevasa
What is the remainder wihen x ivided by x -2 2
W 33 — 5x2+ 2 + 11 Hl X =28 UW 1 EIT 2 E5E -

i ‘“—-.‘1 ra:é&.ﬁ
(A) 3 B) 3 (D) 2 &%
A car moved in a circular path-of 58 m radius,”and make an angle of 45°

What is the distance covered by, car ? ogether !
@mmssﬁ.ﬁw%mmﬁ%n%m%w 45° 1 TV ST B | HR
FgUaaH TS QTG ? | -

(A) 36 (B) 40 (C) 44 (D) 48

If the sides of a triangle are 3, 4 and 5 metre. What is the area of the
triangle ?

e fael B <1 U 3, 4 7015 3ftw &3 39 B 1 ey sy 2

cos (—780°) =7 { ,
4) 0 ® 2 © 5 ©) 1



22.  What comes next in the sequence : 1,2,6,22, cccenreer

ATHA 1, 2,6,22, ......... T 37RI T SR 7

(A) 82 (B) 84 (C) 86 (D) 88
23.  What is the 31 term of the sequence : 1,4, 7, 10, veereees

I 1,4,7, 10, .......... 5 315 g G ? o

(A) 90 (B) 92 ©) 93 (D)

24. What is the sum of the first 100 odd numbers ?

srery 100 Forem wemait o A 1 g ?

(A) 9,000

25, Assumption in calculating annuity is that every

(A) different

TE21 <l TTUFT
(A) P2

(B) 10,000 (C) 11,000 (D) 12,000
payment is

(B) nominal ©) marginal (D) equal

w0 1 7 T8 5 T
B) FmmEel  (C) e | (D) SUeRE |

26. Graph of quadratic function is classified as
(A) composite graph (B) parabolas
(C) quarter graph (D) annual graph
oot e a1 TR g Foen ST R
(A) FERR A (B) e (C) T Ts (D) @I ATH

27, (v+2)r=xTtdx+dis
(A) alinear equation (B) cubic equation

(C) an identity

(D) an equation

(v+ 2P =y 4y + 4-% .
(A) T e Tl (B) frara wiew
(©) v ameied (D) T whEw

28.  What is the area

of a semi-circle of radius 5 em ?

5.1, e & uw ot oo w1 Sahe Rea 2 0

(A) 78.57

o ——— o & e

o —

(B) 71.42 (C) 63.18 (D) 79.86
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290

30.

31.

32.

33.

34.

A student is to answer 10 out of 13 questions in an examination such that he

must choose at least 4 from the first five questions. The number of choices
available to him is

T el ) et wiien i 133 10 et 35 e 2§ 1 7 T AR 56 W e
TG TR AT A L, mmﬁ%ﬂﬁﬁm%
(A) 140 B (B) 196 ' Q) 280 (D) 346

If the average income of 100 labourers is T 20 & the average income of all
150 labourers is ¥ 25, calculate the werage income of remaining 50
labourers ?

(¢ 100 gl Y afga amred T 20 2 |mﬂ150m®ﬁaﬂwa=rma=ﬁ?25
3, o A 50 roredl 1 e e i oE A |

(A)30 . (@B 25 © 23 (D) 35
Calculate Q, from the following dz;ta: o

o1 e < R w Q, & R it ; E%“
X: 20 24 28 16 36 40 32 12

(A) 35 | (B) 30 (C) 28 (D) 60

If Geometric mean of 4 items is 6, what is the product of the items ?
Afe TR SRl <61 TR H18T 6 B T SRl <61 TOF et =11 20 2
(A) 1200 (B) 1296 (C) 1300 (D) 1396

In a Distribution, Mean = 65, Median = 70 and co-efficient of skewness =
—0.6. Find out co-efficient of variation.

fordt oo #, 3Ed = 65, Mt = 70 TUT 49 TOTH = — 0.6 2, @ faged
TUTI TG <hHIfSTT |

(A) 38% (B) 30% (C) 38.46% (D) 50

When bxy = 0.8, byx = 0.45, what will be the value of r ?
Ife bxy = 0.8, byx = 0.45, I T T =1 21 2
(A) 0.6 (B) 0.8 ~ (©) o0.10 (D) 0.15
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— _,_._.---
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35.

36.

37.

38.

39'

40.

The formulac of Laspeyre's method in index no. is

R A AR gl Fga @ -

v "
“P1% UL

(A) Py, = x 100 B) —— x 100
> oo ( ) LPan
Zpa; Pod)
I} D e —
(C) Epnqn (D) P4a

lity of getting 4 OF 67

A fair dice is rolled, what is the probabi . _
T qTE ATgfes® qeehdl Tl lﬁa4m6ﬁﬁﬁﬁwﬁma¥n%?

1 1 (D) 1
B) 7 ) & 3

12—

(A)
The Demand for a commodity increased by 25% in 1990. decrcasefd by ]0?::0
in 1991 and increased by 15% in 1992, Find out the annual rate of increase -
faeft g <6 it ad 1990 7 25% =, T4 1991 F 10% Te T8 92 1992 F 15%
g el 2 | TEeh @it aga @l g AT |

(A) 8.96% (B) 7.20% (C) 15.2% (D) 14%
Maximum value of correlation is

eHeEy &1 3ifiead TH 8

(A) 2 (B) 15 ©) 1 (D) 0

Dependent variable is represented along

(A) X-axis (B) Y-axis (C) Z-axis (D) none of these
quifra e o gl S )
(A) X~ % gic (B) Y-3781 % rgfew

(C) Z-3% & i (D) i AT

E: ;1 sglut:l;;bizrvﬂl(igl& ;!m unusual lower and higher values are ealles
- N
) Freeliners  (C) Central liners()) Median liners

wmm H STEIT TR veqy repere syl ) gt el @
* B) WEE  (€) dgwmEd (D) W T

i T o ——
T -



41.

42,

43.

44,

45,

In the systematic sampling, the value of K is classified as

(A) sampling interval (B) ,Sllb-s:tﬂgc interval
(C) secondary stage level (D) mulll-stage level
forelt womrefira et # K 1 7 wfigpa b S 2 -

(A) ey awaue &) atE (B) mmmem

(C) ¥t o e 1 7@ (D) WIS JFTren o) g

In systematic sampling, the popu[anon 15 200 and the selected Sample size i
50, then the samplmg interval is

?mwmaﬁeﬂqﬁmwowwﬁaﬁaﬁmsné aaﬁg;hm:

(A) 250 B) 025  (C) 4 (D) 40

In cluster sampling, the elements of selected clusters are classified as 1

(A) elementary units© B)" primary units

(C) secondary upits —~ © - " (D) proportlonal umts

wﬁ‘@hﬁaﬂﬁag—e%aa‘rma‘ﬁaﬂw% - g

(A) SRR (B) mﬂﬁeseré S

(€) el god (D) ST 3ehr

Types of Histograms include

(A) Deviation bar charts (B) Paired bar charts

(C) Grouped charts (D) All of these

feinm & vl % affifer 2

(A) Toeememd (B) IMdemard

(C) WHgT = (D) A=

Sample statistics are denoted by the

(A) Upper case Greek Letter (B) Associated roman alphabets

(C) Roman Letters (D) Lower case Greek Letter

frext giferh) gurdl 9wt @ -

(A) T SHETHTE & 3T g (B) Wk I S

(C) T SHERATT (D) lﬂasaxetmeﬁm*f ﬂﬂﬂﬂﬂﬂ "
e TR



46. Statistics Branches include

(A) Applied statistics (B) Mathematical statistics
(C) Industry statistics . (D) Both (A) and (B)
wifer & Trenati § amiga @

A) spEEERER . (B) TRwmEe

(C) Sam wifeTeh (D) (A)@ (B) &

47. Which one of the following is rclative measure of Dispersion 7
. (B) Variance £

(A) S.D.

(C) Co-efficient of variance. (D) None of above

R 3 A T T T TRAT 1 ARE T g ?

(A) a fo=em (S.D.) (B) o

(C) e T (D) FHABET
48. If the sample size increases, the sampling error

(A) Decreases (B) Increases _

(C) Remains constant (D) None of these

afe et R R A @ PR A s o

(A) FATHE | (B) FER |

(C) TRrRw e | (D) FHABE T
49, Chi-square testis | ,

(A) Parametric test S Non-Parametric test

% ;‘fﬂ;g ;u?:gpletest (D) Random test

(4) womfmademr (B) -t wheor

(C) g Trei T | (D) ‘q‘liﬁtﬁ;qﬁm
50. First Speaker of H.P. Vidhan Sabha was

Jaiwant Ram (B : |

(C) K.L.Mehta (D)) I;{"Shna Chender

frmraret vew e T < T ST 9 - Meiia

A) HEd T

(A) T (B) Fom e

- (C) HT @ W g

s

h.é-ﬁa-;-:'ggﬁ-}ffnzﬂlscries-c 100 --.__....___.._._____




51.

52.

53.

54.

55.

56.

57.

tirgem Natural lake of H.P. is
) Gobind Sagﬂl‘

(C) Pl‘ashm- (D) fiuka
TSRt s <) ey e sl 917 &
(4) Meqm (p) fawm (€ T (D) T

(B) Rewalsar

“r[ . o ) ha ats ?
lich district of H.P. has lowest number of 313111 panch (yD) Hamirpur

(A)~Lahaul-spiti (B) Kinnaur

w3 e forey 3 o IR Pl £

Which mountain pass connects Kinnaur with Tibet ? o
(A) BuruaPass (B) Shinka Pass (C) Rupin Ghati (D) Shipki Pass

F T T o =i ) fereaw A Sl 2 2
A gesnad () Rmad  (© wwEE (D) fareeht <

Narsingh Tibba mountain peak is located in which district of H.P. ?
(A) Kullu (B) Sirmour (C) Shimla (D) Chamba

mﬁaﬁﬁqﬁaﬁmﬁmm%mﬁﬁﬁmﬁaé?
(A) o<l (B) fawi (C) Tmen (D) ==

Tattapani water spring is located in which district of HLP. ?

(A) Shimla (B andi (C) Kangra (D) Una
AT T T o fora el # erafR[ 2 2

@A) feenr (@) T © FrE (D)
Seraj valley is Jocated in which district of H.P. ?

(A) Kullu : }Bﬂ/f\";andi (C) Sol D b
S et feerarer e ¥ e et Rl ). Eliambe
(A) T ®) T (©) B D) ==
Sujanpur wWas founded by

(A) Alam Céllfn;id Mhay Cler

C) Hamir Chd ‘e

g e A ¥ (D) Vijay Ram Chand

) sl B) IR () vy (D) RemmERd

_.__...-._.-._.......—..—-m

. e —



58. Pathiar fort is located in which district of H.P. ?

(A) Chamba  (B) Mandi (C) Kullu (D) Kangra
v st e fenra wew i g e o amara 2 |
(A) =W (B) wuEl (C) FeaL (D) TS

59. Which js-known as ‘Land of 84 temples’ ?

A)~Bharntaur (B) Mandi
C) Dharamshala (D) Udaipur
<ot Rl By @ R S T g ?
(A) WK (B) " "(C) eI (D) IEIH
60. ‘Pajhota agitation’ took place in
e T STTCIEH §AT o1 & : _
(A) 1937 (B) 1939 (C) 1940 - (D) 1942

61. Great Himalayan National Park is located in which di::;tf'ict of H.P. ?
(A) Shimla (B) Kinnaur (C) Lahaul Spiti (D) None of these
<3z ReTeR AFE T _RoraRu s R R A2 2
(A) e B) TR (c) wde-wifd (D) 378 § IS 6l

62. In H.P. Indira Gandhi Medical college is located at

* (A) Mandi (B) Hamirpur (C) Kangra
femrae wew & 3iew ik e Hie ARG B :

(A) WU H (B) TRERH  (C) Hmerd (D) RwenH

(D) Shimla

63. Total no. of Municipal Corporations in FH.P. is

(A) One (B) Two (©) Th F
@& O iRt
(8) & ®) @ (©) (D) SR

64. At which I.)]ﬂce of H.P. the first radio station established ?
(A) Hamirpur  (B) Dharamshala (C) Shimla (D) Mandi
femram weu o forer oI & g 1ee Rvm vty Ry mn 2 2

(A) TR @) T () e (D) W&

65. Missing term in the number series 198 |
- 3 1 -
< At 198, 194, 185, 169, 7 iigqqag"'* 1%83 169, 215
(A) 144 (B) 138 (C)' '1'32- N

e ————
- ——



66.

67.

68.

69.

70.

71.

There gy, five friends — Sachin, Kamal, Mohan, Arun and Ram. Sachin j

Shorter Kamal, but taller than Ram. Mohan is the tallest. Arun is a Jiye
shortey ¢ \an ) {

A Kamal and a little taller than Sachin. Who is the second tallest 9
- (A) Ray,

" (B) Sachin (C) Kamal (p} %run _

’W*%,maﬁtmﬁaﬁa‘%mﬁﬂ@ﬁm z&ragqﬁ
m%%%'%mﬁélmmﬁﬁémﬁm%m%%
o TS 3 et A gt

(B) Gl (C) A (D) e
Wh.i ch state recently organized the world’s longest awareness human —
chain for Mmore

than 18000 km ?
(A) Up, IEB) Bihar (C) Odisha (D) West Bengal

W@W&WWWW 18000 Fop.7ft. & aferes o =ft, g &
ey

SIBIECEL s '
(A) SRy (B) faEr (C) aNfssm D) "wivaw s _|
Bapu Nadkarni, who recently passed away, belongeditoswhich field 2

(A) Politics (B) Literature  (C)oSposts— (D) Arts

G el Rt w1t € 3 Sermm gom) feees & Hete & 9

(A) TeHify (B) wifee (C) Eerre (D) wenadl
Which Indian Entrepreneur was recently honoured with the Australia’s
highest civilian honofir;*Order of Australia® ?

(A) Anand Mahindra (B) Kiran Mazumdar Shaw

(C) AzimePremji .. (D) Uday Kotak

fepe W S E T @ o 3% sTeRmr — e i weEte

i TE & ST foa e o
(A) TTE ATES (B) Tortor mioprew wif L;J_%%ll
(C) i Sweh (D) 3¢a Hiews Ol
Indus valley civiliza . :
The people of the . zauon usually built their houses of
(A) wood (B) bumnt bricks (C) stone

fefy e Tt 35 T AR S e gy gy, ) O
@ wwF O FTES ) vy () mana

arian of the Sangir
The first gramm (B) Kalhans . nguage was

(A) Panins © Kalidassa . (D) Maitreyi.
g ATl e
@ wirt_CLT € we (D) e



72.

73.

74.

75.

76.

77.

The coins of which of the following reveal their love for music 7
%_2[ ﬂc-golus ﬁﬁ]ﬁqﬁ% Guptas (C) Nandas (D) Mauryas
fepre féraren @ 371 i m grereran 2 2
() = B) T4 (C) (D)
Which dynasty did not rule the Delhi Sultanate ?
(A) Slave dynasty (B) Sayyed dynasty
qu; Khilji dynasty (D) Ghori dynasty
1 51 feeet Hexma W e e {6 ° ,
; o Gq (D) T
(A) EmEm () Fmgdm (O fae
Shah Jahan built the Moti Masjid at Ihi
(A) Amarkot (B) Agra (C) Jaipur (D) Dei
yTrEeTal 3 Hieh waferg et fmior e - 2
: ; feetl |
A) sweed (@) smd (O T d (D)
. . - - ]
Which battle proved decisive in the Anglo-French rivalry in India
e SN -
(C) Battle of Seringapatnam (D) Battle )
wﬁaﬁauﬁzﬁmm%wﬁqma@ﬁﬁ"ﬁﬁmﬁé -
(A) T B e (B) K H TR
(C) Aftraen T (D) aTfeaT < TR
Who said ‘Patriotism is religion and religion is love for India” ?
Mahatma Gandhi (B) J.L.Nehru
(C) Bankim Chandra Chatterjee (D) Swami Vivekanand
qmfad o 2 3 v % fer el 3w R —fram g ?
(A) T{'s’ﬁm_ﬂi%ﬁ?f (B) SETEEITS A&% A
(C) feprig Tesh A (D) wrf fREsre
Who was the ‘Political Guru® of Mahatma Gandhi ? -
(). QK. Dokte (B) B.G. Tilak
(C) Aurobindo Ghosh (D) Dada Bhai i
T e 3 TeEhfe T @ & 9 ada Bhai Naoroj1
(A) TTETHST Tiget .
B
(D) rersms Rsh

Code No. : C-607/2020/Series.C ===



78. Inafedera] gqy .
(A) Ol'igin:%l ng:llé:;em the staies Cl‘ljo()];) pPowers delcgated by the centre
gi[)mq[;o Wers given b_y the constitution (D) None of these

TR 3 Tl ot gerT 8 .
(A) T Wi | (B) %»‘-ﬁﬁmﬁaﬁs'ia“q'
(C) Ao gy wem wimwl (D) sﬁﬁaﬁé%ﬁ
7 A,Sf cular state is one which .
)" has no religion of its own (B) is irreligious .
(C) is anti-religion - (D) None of these
S T - gam
(A) Rt s wf i g | (B) Saetiee | o
(C) =it end fdefr g | (D) FHABE TG
80. Constitution of India considers free and compulsory education to children

upto

(A) 10 years (B) 14 years (C) 18 years (D) 21 years
TR 35 wferer & s o fore g e it e 1 ferem R -

(A) 1098 aF®. (B) 4T¥awH (C) 18T THS (D) 21 a9 G% &

81. What is the literal meaning of ‘Certioran ?

(Ar We command (3) To have the body of
(C) To forbid (D) None of these
3901 oG (Certiorari) &1 wifecer 31ef 2 :
(A) TH RN (FE) F R | (B) 1 ferm g |
(C) Trae e | (D) 3§ HIE T
82, In India, Prime Minis;e;‘ can hold his post till he has
(A) support of armec fOrces. (B) confidente of Rajya Sabha.
(C) confidence of Lok Sabha. (D) support of People.
sy 3 e T ST T8 T T W T Fehl § o1 b I
(A) TR F 2 (B) T=a | i forgama gifee 2 |

(©) dpan TR | (D) S g

83, What is the per centage 0§?&gﬂgen in atmosphere of the Earth ?
(B) y (C) 0.03 (D) None of these

0.95
qoh 35 argreer A TR SR
» @ BB ©) 003 (D) FEAHET

e S e S ——
e
—



84,

85.

86.

37.

88.

89.

Which planet is nearly as big as the Earth ?

(A) Mercury  (B) Mars (C) Venus (D) Pluto

I | T T el & fora w91 2 2

(A) T¥ (B) e ©) T (D) T

The sand mound formed by high speed of wind

(A) Cliff (B) Cirque  (C) Dun® (D) None of these
3= A I A 1 1 Wil fesd

(A) wfiw I=gn (B) i (C) T (D) FHAPET

Y

Suez Canal connects Red Seca with
(A) Arabian Sea
(C) Black Sea

(B) Mediterranean Sea
(D) None of these

e et Sl & TERErT 5
(A) @A L (@) EEET
(C) HIen AP d | (D) i A1

Where is Lakshadwecp Island located ?
(A) Indian Ocean (B) Bay of Bengal
(C) Arabian Sea (D) None of these

TN 21g el SafeR 8 ? .

(A) fome mETETR A (B) &I i @A

(C) 3@ aprH (D) FHAHE T

Sutat is located on the bank of which river ?

(A) Narmada  (B) Saraswati  (C) Mahi (D) Tapti
e o ) % e T IERA R 2 |

(A) T (B) W&t (C) W (D) =il

Viruses are
A Iuls ni - icellul
(A) }%ce ular Mellulm (C) Multicellular (D) None of these

(W) FwRiE B) W (C) agentm (D) THADEE



90.

91.

92.

93.

94,

95.

96.

97.

98.

99.

i

Water j :
Vater in playg is transported by

- ! 1S :
(B) Phloem (&) Epidermt>

AU 91 Reafie Qe 2
) (D
(A) Sormam @) wwan (©) aftrsfifdl &1

Chewj : :
( A:) C';‘:lg;ngum 1S 11121[;[:): ﬁfgzﬂ (C-) Tan nin (D) Resin
(A) ™3 (B) N (C) MAE (D)
At what temperature water converts to water vapour ?

TTEHR R et ey Seqroq 3 STl 81401 @ 7 0K
M2TK (B) 100K ©) 373K ®)
What is ice 9 EYE
[ ’S?lfrliy czlaigo'n dioxide (B) Glacial acetic acid E‘%fé
(C) Benzoic acid (D) None of these
S Rr T g 2 -
(A) 3 FEH SRS (B) Tt uftfes T
(C) igsh anst (D) 3 A HE T

Correctly spelt word is/
(A) Autumn  (B)Y Concience (C) Etikette (D) Aquittal

The tourists were . by the view of the mountains.
(A) enraged  (B) enlightened (C) enraptured (D) enriched

Antonym of ‘profuse’ is
(A) sacred (B) meager (C) adverse (D) ambiguous

% B
?f) el (B) e (C) fremy M@Tﬁf
‘Wﬁ,ﬂgﬁz-ﬁ—c@a%

(A) S+ (B) 31+ TH ©) F+7gA (D) I +T

©) &= (D) wEAe

7T Gade No 5 G0 B0R0ISeTies ¢



100,

101.

102.

103.

104.

Consortium is known as
(A) Participation financing
(€) Both (A) & (B)

T (RS ST Sl @

(A) Tofia wewfirn il Eﬁmw
(©) (A)Te (B) QI @ TR

(B) Individual financing

(D) Non¢ of these

ssued for a period of

Commercial paper may be i
o } ceeding thrce years

(A) Not exceeding one year (B) Notex

(C) 91 days to 6 months (D) None of these

ﬁnﬁhﬁﬁmﬁmmﬁﬁﬁﬁﬁmﬂﬁmwaﬁm% :

(A) T T4 | fereh T (B) zﬂﬁﬂﬁ?@ﬁ%qﬁ
(D) FHE HIg T

(C) 91 feHi @ ®: A

sive form of promotional activity ?

(B) Publicity
(D) Participation in exhibition

Which of the following is least expén
(A) Advertisement in Newspaper
(C) Door to Door Convassing

ﬁﬂﬁfmﬁ%ﬁﬂﬁﬂﬁﬁﬁwﬁm@?ﬁﬁ%?
(A) m-ﬁﬁﬁﬁlﬂ? (B) WER-SER
(C) ER-H-gR &l =R (D) e & wEfia

Which stage is followed after growth in the product life cycles ?
(A) Decline (B Maturity  (C) Introduction (D) None of these

mﬁwﬁq@%wﬁnﬁmmg?

(a) sl (B) WRow@(C) W (D) T R T
Business with weak market share in low growth market are called

(A) Question Mark ~(B) Stars

(C) Cash Cow (D) Dogs

&) e (B) = ©) ¥uww (D) O™

——

————
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105/A debt written off as bad on subsequent recovery would constitute a

(A) Loss (B) Loss averted (C) Profit (D) Bonus
SN T 1 srufirfaa o1 e Sl & T & T - _
(A) =f (B) Paif@-afy (C) @ (D) =

106. Under which of the following method of Depreciation the balance does not
reduce to zero ?

(A) Annuity method (B) Original cost m.et'hod
(C) Diminishing balance method (D) Sum of years digit method
o 3 2 form e v & arwwa A v 7 wfeq e ?

(A) T8 ek (B) Het v TG g‘%%
(C) W93 Ugh (D) aerfa;zﬁnq?aﬁr
107. A standard established to be used unaltered. for & long period of time is
called .
(A) Expected standard (B) Normal standard
(C) Basisstandard _ <,/ (D) None of these
wfl FEEry % ﬁii‘f:fq'q’nﬁ Jrfafia e wenfie awe SEem g -
(A) IFHIFE FFH (B) W W
(C) HATER AFH (D) ¥ &g 7L

108. Cost volume profit analysis is most important for the determination of the
(A) Volume of operations necessary to break even
(B) Variable revenue antecessor to equal fixed costs
(C) Relationship between revenue & costs at various levels
(D) Sales revenue necessary to equal fixed cost
T A e fergersr v 61 o i wepi @ -
(A) T o ford e Ui 6t

(B) TR FIT 3 Jeaia TRt T
(©) iy Tl T TRRE 1 ST A Hay
(D) THIRR T < [T ST o Toea



109.

110.

111.

112.

Calculate total sales when :

Fel e 1 o hiford wa

Cash sale / Ug fafi < 20,000

Cash received from Debtors / FigHi F g UH3 T 80,000

Discount allowed / 37Ad § ) {4,000

Opening Balance of Debtors /el e BT 71 T 30.000
aifemt 99 T 24,000

Closing Balance of Debtors [ FgRl &l

B/R accepted from Debtors / Fogrl § Wl fen @ B/R T 6.000
(A) 84000  (B) 120000  (C) 10.400 (D) 26,000
Margin of Safety can be improved by
(A) Lowering fixed cost

(C) Lowering variable costs

& AT o Tl 1 Hhel @ -

(A) TR T feTm (B) fosma v agret

(C) e e et (D) A=

(B) Increasing sclling price
(D) All of these

Margin of Safety is 28% and contribution sales ratio is 60%. The profit wil

be

(A) 30% (B) 33%

(C) 12% (D) Can’t be computed
L& W 28% @ Tt HAIEH fasrar 3THTd 60% 2, & &y 26 -
(A) 30% (B) 33%

(C) 12% ' (D) o =& < 51 Gl

Which of the following is normally regarded as a satisfactory ratio of current
assets to current liability ?

(A) 84 (B) 6:3 (€ 2:1 (D) All of above
ﬁmﬁﬁwwww&ﬂwﬁﬁﬁmmﬁm@ﬁa}mm
AT ST 8 2

(A) 8:4 (B) 6:3 ©) 2:1 (D) Awf



113, _
?‘:’Il:g?:‘s 'S are jssued to promoters againt
A Ving ACcount is debited ? omoter’s Alc
) Share Can: (B). Pr 1 Adc
(C) Caspy A/;pltal Ale . (D) Goot’:{Wl ﬁﬂﬁ%ﬁ
i %) ) e 3 e A AT
S | <1 Gl
(A) Tt ey B) el

st their services, which of e

mmm

114, Onp 4 €quity share of ¥ 10 the company ha§ cgléed?up O 8PS 7 hasbenn
received. The capital account should be debited OY ©) 10

(A) 7 ) 8 )
?ma;gaaaméf)miﬂﬂsﬁﬁq@mﬂw%ﬁma%m@
o R, (D) 10

(A) 7 B) 6 C) 8

115. The minimum subscription of the company should be received within ___

days

(A) 110 (B) 120 (©-90 (D) 130
S T e e At o e e B =R | \
(A) 110 (B) 120 (C) 90 (D) 130

116. When shares are forfeited the share capital account is debited by

(A) Paid up amount Calls in arrear
(C) Nominal value of such share (D) Called up amount

el S et R T & it e ot e R o v R ¢
(A) YT TRTH (B) wehrn wim AR A
117, Indian A counting Standard (AS26) is related to
A ntﬁngible assets (B) Leases
(C) Borrowing costs . . Tangi S
srrdier SvgieRd A (AS26) T Ty § :
() i R E (B) wErd |

(C) Jer i & (D) T R 4

—— —
— s —

— ..-u-.-—-.--—-l-"‘"""--—-'-
i 21 o~ " mTa » l -
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118. Operating Leverage can be calculated by

119.

120.

121.

Current Liabilities
EBIT

(A) Sharcholder's fund

Reserves Net profil
©) Share capital (D) “sales
Qe IaeTe S T o) 1 Fehell ©

e et HYEGH

frord g A

©) Frgh . D) &R

was given by
(B) Marshal
(D) Kautilya

The Concept of Double Entry System
(4) Lucas pacioli

(C) Peerto

Srgd il TRy < ST g =l 7 °f

(A) e AR (B) WIRIET g
(C) WATT (D) Wiz

How the date of Balance sheet be properly written ?
(A) Dec. 31,2019 (B} For the year ended Dec. 31, 2019

(C) 31 Dec., 2019 (D) As on Dec. 31,2019
- (3 Te) R aniv fore SRR et forelt el @ 2

(A) fem. 31,2019 (B) ﬁu.31,2019ﬁmaﬁ%%u
(©) 31feE., 2019 (D) f@. 31,2019

X and Y are partners sharing profit in the ratio of 1:3. A is admitted with:li

share in profits. What will be the new ratio of X. Y and A ?
Xaen Y e § 1:3 % g o ' 1 | :
MR § | AT e 3 wmiter % w9 F A

R | X, Y @ A H 1 ST 1 By 9
(A) 16:48:22 (B) 1:3:4  (C) 4.9.3 @ 3:9:4



+ ATading A
ccount
ount is g account. personal
B) ¢

123,

124.

125.

126.

Eé] Rea]
) Both req) and personal -

Ll
(A) am-—rﬁ—q;““‘“m%' ) w@ﬂﬂ

C) arh
nl'isi11g from the insolvency of the

In G
arner v/s Murray the deficiency

artner i
P ris borne by the other partner in

(B) the profit sharing ratio.

these.

(A) the rati L
(C) eqi:all;r(,} ‘_:'fthgr Cﬂp}talé. (D) Noneé of
ﬁ%’sﬁ%mmaﬂwWam el e ER T G T
(A) 37 oft o - (B) e T T

(C) =&t sy . (D) FHAFRTE

The difference between subscrii;)ed-capital and called up capital is
(&) Uncalled capital - (B) Paidup capital
(C) Calls in arrear . (D) Callsinadvance

(B) e feRd il

(A) Tom-mim i
(C) wHEIHI (D) B ok
T (D) 2

n of the business is indicated by -
(B) Law Proprietary ratio
Debt. Equity ratio

Overcapitalisatio
(A) High Proprietary ratio-
(C) Even Proprietary ratio

s 1 e gatrehel =1 T et
(A) Yﬁwﬁﬁagmﬂam © (B) Fre i IgTE T
(C) | Tt A & (D) o
Mafk but odd man out-: | Pere
(A) Training & Development *  (B) Placement
%;%d%c%;;ﬁ: | . (D) Wage Administration
(A) 2 qen e | By
______-_1__‘_(0) '5|€|'5T ' L 0 (D) _aa:[ TSI ’_f__".,;-é
- ” i TG



127. If .t ; :
HOSU:‘I?S ;rg t\[’:,?l;e fnr. work is 10 Hrs, Actual time ta
(A) 42 ' o ‘(";l)l b?)hc earnings of employee as Pe!
fensft £ (C) 48 1,
3 R i T 10 8 & | o s w0 87 ©

R, T T 3 S freh ) ) s € 2

(A) 42 B) 52 (©) 48 D) 46

128. The theory of collecti :
ive bargaining was given by

(A) Dunlop (B)_ Hicks : (Cﬁvie}’ncs (D) McGregor

(A) STEUEM  (B) Remdgm (C) H D& (D) AP
129. Performance appraisal help's to rate the ]

(A) Job . (B) Emplbyée'_.__(C) Work ,@)/Au of these

Tt T TERR A R A e 1T -

(D) @i

130. The concept of insurangé involv
(A) Liability _ (B) Needs
<o <61 s 3 Fifed 87
(A) TR TR 42
(C) e TTat -

Which was the first Actto regulate life
(A) Insurance Act, 1938 (87 LifeInsurance Companies Act, 1912
(D) LIC Act, 1956

(C) IRDA Act, 1929,,3 GBS o6 X! T e
& ?

131. fe insurance industry in India ?

8 HH 91 98l
(A) a1 T, 1938 (B) Sfter st oft anferfrr, 1912
(©) IRDA HiuFaH, 1999 (D) LICTU=, 1956

Which of the following is not considered to be one of the three pha f
ses o

132.
e-commerce ?
¢A) Innovation- Eg) Cotisclidation
(C) Preservation § (D) Rej .
Sy i @ i W1 B-M%?ﬁqwﬁé@e%%o#m% 9
(A) TR B) ¥ _
(&) piee: (D)



133. The solution for all Business needs js

134. The cost which is to be incurred even when a busine

136.

o)

(D) None¢ of these

(A) EDI (B) ERP  (C) SCM
Toft WP ) SaEIS T B g R -
(A) EDI (B) ERP (C) SCM (D) Wﬁﬁﬁ:ﬁﬁ

(A) Imputed cost
(C) Historical cost

gs unit is closed is

Shutdown cost

wmﬁlﬁﬂﬁmﬁmﬂaﬁaﬂnﬁaﬁwﬂ@@%

Contract A/cis a

MOminal Alc

(C) Personal Alc
Hifere W R T ¢
(A) AT @l
(C) =AfFE Tl

Journals are also referred to as
(A) Book of Entries

(C) T. Account

et g e oft v Bier @
(A) wiTE =@l

(C) T.wHdl

In India GST became effective from

(A) 1% April, 2017
@,P’Tuly, 2017

ST 3 GST WTeSie §311 2
(A) 1 318, 2017

(C) 19T, 2017

(B) Real A/c
(D) None of above

(B) Book of Original Entries
(D) Book of Ecqnomic Events

(B) Tt wfafE =&l .
(D) TRl Tl <t ==

(B) 1% January, 2017

(D) 1% March, 2017

(B) 1SHad, 2017
(D) 149/, 2017



13
8. hiarket value o{' the shares are dcudcd by
(A) the respective companics
(C) the govt.

/thflnvcstmcnt markel N
(D) the sharcholders

Rt ot e e e e 4
(A) e s grn (B) ﬁ&mﬂﬁﬁﬁm

139. Which of the following i.s,an extractiy
(A) Cattle breeding

(C) Hunting :
ﬁqﬁﬁﬂﬂm@ﬁmaﬁn%'?

(A) Tgoer  (B) ELERD]

140. Stock Exchangei
e 3 e T e FrEomH %

f-emdustry'?
(B Forest cU
(D) Flour mills

[tivation: .-

(C) @2 (D) ﬁﬁﬁa |

n Indm are under the control of

(B) SEC

(A) SEBI
(D) Financial Instltutlonﬁ?ﬂq par=ik|

d, it is known as

141. Whena right to sell a securlty is acquire
a ')/pu{ t option .

(A) call option

(D) single option

(C) double option
i foeft gﬁ@%ﬁmmﬁwm@m%aﬁgmw%

(A) HTel AT
(C) =T T

142. A certain pe

- (B) Y& A=
(D) mm .

rcentage of the sum assured is paid penodlcally accordmg to the

terms of policy is known as

(A) Term Policy (8) Endowment Polic
}(Q/Mc:%y Back Policy (D) Group Insurance t:;’ohcy
e Tk 1 G o i < vt & aqa"aq aqrq'f%ﬁ W
e T Y 4 ST SR = - i
- (a) utE
© whAmIRE (B) ‘I@ﬁzﬁﬁ‘ﬂ-ﬁ .
(D) U 3ANE wiferet
Code No. : C-607/2020/Series-C 3
6 - ———— e e



143. What i§ called to buying of sh

ares by taking money from brokers ?

Margi ;
/%é) o cxl-lim Trading Eg; I(:iurb’ dquing
Eﬁﬁﬁmwmﬁﬁwl 3 orwat
(A) HIH ofen (B) e diferm
(C) wcem (D) W
144, Which amongst the following is not a Head of Income ?
(A) Salaries 1e following is not a (Be)a o o House Property
(C) Capital gains (D) Income from exports
faddsN o s e TR ?
(A) I (B) WM H I
(C) Ysit wfetra (D) Frafa & I

145.

146.

147.

148.

According to Section 2(24) of Income Tax Act, 1961, definition of income is

i Exhaustive

A) Inclusive (B) Isti
EC) Exclusive (D) Descriptive s
TRt JTferfEm, 1961 ﬁumﬂz@%aqgaﬂmﬁqﬁ%w :

A) GHEE (B)
A , (D) faaumeash

E3E
ND)

I:hﬂ

Previous year is defined in which section of Income Tax Act, 1961 ?

fra S i GICTST SIS AT, 1961 H frg aq A RS R 2
Q/}/Sec. 2(34) (B) Sec.2(9) (C) Sec.3 (D) Sec.4

A person becomes member of HUF by
(A) Contract  (B) Agreement (C) Popularity (D) Status
U SR WY foq WK (HUF) FI Sg@ sar &

(A) dfeer & gra - (B) w3 E g
(C) eeni3Rrar & g (D) W™ F A
Incpme tax is charged in

Financial year (B) Assessment year
(C) Previous year (D) Accounting year
STTHT ST T R - i
(A) foreftar = % (B) et

(C) fommadd D) dEra§it
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/
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149,

151.

152.

153.

. , : qpricultural
.AI““"LISI the following who is empowered 10 Jevy tax O agr
income ?

(A) Centre Govt, (13) State Govt.

(C) Commissioner (D) President

P 1 & 2l & e aerivrn 3 oy el 27

/‘ .'
Where both parties arc under mistake as to maticr of fact. the agreement Wil
be '

(A) Enforceable (B) Voidable (C) Not void ’,{‘D)/.vmd

aﬁaﬂ“ﬁﬁ%ﬁﬁwﬁmﬁgﬁaﬂﬂﬁaﬂ%.aﬁwm=
(A) SR (B)

(C) T el (A1) (D) IMT
A promise made without intention to perform is
_(A—}’-"Misrcprentation (B) Fraud
" (C) Undue influence (D) Coercion
et iR Frsarea i Aa wr= o T SR
(A) TG FYAE | (B) Hr@wE? |
(C) R mTER | (D) @ TR |

Which of the following persons can perform the contract ?

(A) Promisor alone (B) Legal representative of promisor
(C) Agent of the promisor @)Y All of these
ﬁmﬁﬂaﬂqmaﬁﬂaﬁﬂﬁmﬁamm% 0
(A) A FaeRd (B) a=eal @ faites wiafaty
(C) = Ffrenal (D) =@ &
The term “gt?ods“ under Sale of Goods Act, 1930 does not include
E-g; St"“f:’u S aharcs (B) Actionable claims

ocks and & (D) Invested crops
Wﬂﬁ'ﬁqm' ]930%3{?[?6““%““&%@%.
(A) FawwE | B) e

() VT (D) PR woS



’!?154. An offer may lapse by

[

155.

156.

157.

158.

(A) Revocation (B) Counter offer
(C) Rejection of offer by offeree (DY All of these
(A) Y ford S W

(B) Wit HH

(C) TR 1 SATER ITEeh G GRS el

D) 3w |

The Sale of Goods Act, 1930 deals with . ,
(A) Sale (B) Mortgage (C) Pledge ,fDﬂll of these

ma%rr:rﬁaﬁﬁﬁaﬂ‘aﬁw,wsosﬂaﬁﬂﬁaﬁ
) e @ Fwd O peftd (0 T

In case of illegal agreements, the collateral agreements are

(A) Valid ©) Void (C) Voidable (D) None of these

e T 5 AT A Heed B B 3

(A) U (B) W

(C) I (D) T AL TR

Which of these is not mentioned in tender ? g%z

(A) Date (B) Sign

(C) Notice number | ,I-B)/Dcsignati o

fore 1 & o Ffarey F T e e 8 2

(A) fife (B) TEIER

(C) AT (D) w9

India's Foreign Exchange Rate System is

A et
X :

e ) Pt Rfma e e - (D) Fixed target of Band

(A) T R (B) =rafm yard

() far (D) ¥5% for



159. Industrial Finance Corporation of India (IFCI) was established in

YT 1 3fteifires fiw fimm (e st fofe, o 1 S D [l
(A) 1946 (B) 1947 (C 1948 (D)
160. In which of the following market structure is the degree of control over the

price of its product by a firm very large ? o
p Y K Perfect competition

E.A)fl_g'lpcrfect competition (B) Both (A) & (B)
ALY Monopoly (D) Both
P 5 2 Tt s e 3 Fraor 1 Bfe Fell it 3 G 38 IS T <hiw
T g T Bl @ ?
(A) 3getl st | (B) qof ftreer .
(C) TR (D) (A)@HT(B) QI
161. The cost of one thing in terms of the alternative given up is called
(A) Real cost (B) Production cost
(C) Physical cost ,(D}(ﬁpportunity cost
o2 2 fiyepet 3 wdl 7 & e g Y Shva g 8 -
(A) SRS (B) IcATEA hiFa
(C) wifcrs =hma (D) 3TEE e
162. The Horizontal demand curve parallel to X-axis implies that the Elasticity of
Demand is
(A) Zero
(B) Infinite

(C) Equal to one
(D) Greater than zero but less than infinity

(C) T % IR | (D) & s e i 3 o 8

163. In short run, when the output of g firm : .
(A) Remains copstant. N gwreases, Its average fixed cost
(C) Increases (B) Decreases

31 < e 3 T Rl o (D) First decreases and then rises

(A) RR=ATERR | SR TRl R, SHe s R T -
) TR (E) e R | .
R CRTOHETE --_-__H?‘.__(__ngﬁﬂwmﬁ |




164 \\?ho . de ]

: propounded 1}, {i (erpational 1rade -
: ¢ opportunity rof M

/(.Ar) R[c;“.do pportunity coslt :{;‘;O?ﬂa hall

%I{eckSCller & Ohlin (D) l.labcrlﬂr o
56 AR =g & smaet @ fagia & ’

(A) Taret (B) -

(C) s TEn siehm (D) T |

165. Ten Rupees is the equilibrium price for good X. 1f Govt- fixed thf price at
" TS5, thercis

(A) Surplus I‘;osls age .

(C) Excess supply (D) A sho :

%ﬁmxﬁmﬁ@nmmmﬁ%, ﬁmmﬂm¥sm

fra s 8, AT

(A) i d | %“%‘

(C) ayf i R | 4 ke

166. What does price ﬂooriri\g;,;_ﬁéan 7
(A) Shortage (B) Surpluses.
st SR R AEEE?
(A) el (B) SRl

167. The goal of pure market economy is | >
(A) Consumers —(B) Companies, (€)- Workers (D) The Govt.
=1 e B SRR B HAT E '

fergg, = |
(A) soim  (B) SRR ((QeRwRd || (D) TN
168. In which year first five year plan was launched ?

firg oy gEHiE ] Y6 <hl 75 ot 2
(A) 1950 1951 (C) 1952 (D) 1953
169. In which year planning commission was established i ia ?
Wﬁﬁyaﬁm'mmmwm? e mInc%_la ?
(A) 1952 (B) 1951 (€) 1950 (D) 1955
170. In which year “20 point programme” was initiated for the first time in
India ?

mﬁ%ﬁﬁf“mﬁ?ﬁqm’%ﬂaﬁ ST Ry TRIy o 2
(A) 1972 & 1% © 1999 (D) 1975



